Exam. Code : 121203
Subject Code: 102812

B.A./B.Sc. 3™ Semester (Batch 2023-26) (CBGS)

ENVIRONMENTAL STUDIES
Paper—ESL-221

Time Allowed—3 Hours] [Maximum Marks—75

Note :— Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A

1. Discuss about various food resources and type of changes

caused by modern agriculture. How fertilizer-pesticide

problems can be mitigated ?

2 Discuss in detail about various renewable energy resources.

SECTION—B
3. Write about 'Biogeographical classification of India." Why
is India called as mega diversity nation ?
4.  Give introduction, types, characteristic features, structure
and function of an aquatic ecosystem.
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SECTION—C

Write a detailed note on Water (Prevention and Control
of Pollution) Act, 1974,

Explain about Solid Waste Management. Give causes,
effects and control measures of Urban Waste.

SECTION—D

Mention about different Family Welfare Programmes.

How can you relate environment and human health ?
Describe about role of information technology in environment
and human health.

(Punjabi Version)
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Exam. Code : 121203
Subject Code : 102745

B.A./B.Sc. 3" Semester (Batch 2023-26) (CBGS)
ENGLISH (Compulsory)
Paper : ENC-201
Time Allowed—3 Hours] [Maximum Marks—100
Note :—(1) Attempt FIVE questions in all, selecting at
least ONE question from each section. The

fifth question may be attempted from any
section.

(2) Some questions may be divided into sub-
parts, whichever question is chosen should
be attempted along with its sub-parts, if any.
Sub-parts of questions cannot be chosen from
different questions. All the questions carry
equal marks.

SECTION—A
1. Do as directed :

(1) Put in the correct word :

[ always feel when the sun is shining,
(happy/happily)

(2) Put adjectives in the brackets in correct position -
An enormous umbrella. (red, yellow)
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(3) Make one sentence from two. Complete the new

sentence using ‘too” or ‘enough’ :
[ can’t drink this coffee. It is 100 hot.
This coffee 1s
(4) Put the words in the right order to complete the

sentence :

Tom likes to sing.
He has _ (voice/quite/good/a)

(5) Put in correct preposition :
It was nice _____ you to come and see me.

(6) Complete the sentence with ‘on time” or ‘in time”
The film was supposed to start at 8:30, but it
didn’t begin .

(7) Write sentence with ‘in the end’. Use the verb in
the brackets :

We had a lot of problems with our car.
(sell)
(8) Complete the sentence with ‘by’ :
[ have to be at the airport not later than 8:30.
[ have to be at the airport
(9) Complete the sentence using your ideas
[ was asked a lot of questions during
(10) Put in ‘by’ or ‘until’ :
[ think I will wait _____ Thursday before making
a decision. 10x2=20
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Do as directed :
(1) Put in the correct word :
You look ! Are you alright ? (terrible/terribly)

D > iective 1 s
(2) Put adjective in the brackets in correct position :

)

An unusual ring (gold).

(3) Make one sentence from two. Complete the new
sentence using ‘too’ or ‘enough’ :
I can’t explain the situation. It is too complicated.
The situation is

(4) Put the words in the right order to complete the
sentence :
The bus stop wasn’t very near the hotel.
We had to walk i (quite[long/a/way)

(5) Put in correct preposition :

[sha doesn’t look fine, I am worried
ime’ :

her.

(6) Complete the sentence with ‘on time’ or ‘in t
Why are you never ? You always keep

everyone waiting.
(7) Write sentence with ‘in the end’. Use the verb in

the brackets :
Anna got more and more fed up with her job.

(resign) :
(§) Complete the sentence with ‘by’ :
Please make sure that you are here no

7 o’clock.
Please make surc that .

t later than

i
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(9) Complete the sentence using your ideas :
Nobody came to see me while
(10) Put in “by’ or ‘until” :
[ need to pay the phone bill. It has to be paid
tomorrow. 10%2=20
SECTION—B
Write an essay on any ONE topic :
Pollution due to Excessive use of Plastic.
OR
Health is Wealth. 20

Do as directed -

(1) Fill in correct preposition in the following

séntence :
I’ve applied  a job at the factory.

(2) Fill in correct preposition in the following
sentence :
I don’t want to discuss __ what happened last
night.

(3) Fill in correct preposition in the following
sentence :
Who’s going to take care _ you when you
are old ?

(4) Fill in correct preposition in the following

sentence
[ am leaving my house 11 a.m. tomorrow

morning.
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(5) Complete the second sentence so that it means the
same as first :
There was a lot of furniture in the room.

The room was full

(6) Complete the following sentence using a verb in
the correct form :

I liked an article in the newspaper, so |
it out.

(7) Complete the sentence using — ‘in’ or ‘into’ or
‘out’ or ‘out of’ :

Why did Sarah drop college ? Did she fail
in exams ?

(8) Complete the sentence using — a verb + ‘on’ or
‘off ’ :

It was warm, so I my jacket.

(9) Complete the sentence using — a verb (in correct

form) + ‘down’ :

The train as it approached the station."

(10) Complete the following sentence using a verb in

the correct form :

Don*t __ that box away. It could be
useful. 10x2=20
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6.
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SECTION—C

From your reading of the PO .
Yecar "I'I'mu Mayst in Me Behold™, describe the boughs
.en in the autumn and tell how does
aker’s life 7 Also explain
wilight” and “sunset”
20

em “That Time of

as they are scet
autumn correspond to the spe
what do the images of "t
suggest. |
From your reading of the poem “To the Skylark™,
describe the different objects with which the skylark
is compared to. Why does the poet think that the bird
does not know the pain ? How does Shelley treat the
bird as a model for the poet ? 20
SECTION—D
(a) On the basis of your reading of “Global Health”,
explain what do you know about the disease
malaria. Is the disease common today ? Where do
you think cases of malaria are most likely to be
found ? How do you think malaria spreads from
one person to another ? Do you think it can be
prevented, treated or cured ? 10
(b) Complete the sentences from the list of words
given below. These words replace the words or
phrases in parentheses, which are similar in
meaning :
depressed, fatigue, enhance, straightforward, thrive,
enhance, primarily, preliminary, reluctant, remote,

rural.
(1) There is a (simple) solution to the

problem.
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(2) Children (do well) ___in their classrooms
that are filled with activities. |

(3) People from (country)  villages are

sometimes fatigued of cities.

(4) A good education will (improve) your
chances of getting a good job.

(5) Tourists are often (hesitant) to visit
places where there is a lot of disease. 5

(¢) Give one word for the following definitions :
(1) A fatty substance found in body ___.
(2) To carry out and organize an activity
(3) To work with someone with a special
purpose

(4) A long-term plan to achieve a goal

(5) A change in focus or direction 5

8. (a) On the basis of your reading of “Multicultural
Societies”, describe how has globalization affected
you and cultures in different countries. What role

has technology played 1n globalization 7 10

(b) Give one word for the following definitions :

(1) To slow something down

(2) The process of forcing someone (O leave a

place .
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any connection with religion

——

(3) Not having

(4) Extremely limiting or difficult

(5) Official orders 5

(¢) From the list of words given below, find the noun

that best continues an idea from the first sentence

of each item :

decrease. discovery, fact, opinion, possibility,

prediction, requirement, response.

(1) Some experts believe there will be 9 billion
people in the world by 2050. This :

(2) Some people think that the Western culture

has had too much influence around the world.
This

(3) About 1.5 million people of Japanese descent
now live in Brazil. This

(4) In the nineteenth century, established immigrant
groups often had a hostile reaction to the
new immigrant groups. This

(5) In 1968, a resident of Brooklyn, New York,
found the remains of a nineteenth century
African American settlement. This

5
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Exam. Code : 121203
Subject Code: 102746
B.A./B.Sc. 3™ Sem. (Batch 2023-26) (CBGS)
PUNJABI (Compulsory)

Time Allowed—3 Hours] [Maximum Marks—100
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Exam. Code : 121203
Subject Code : 102816

B.A./B.Sc. 3" Semester (Batch 2023-26) (CBGS)
MATHEMATICS

(Analytical Geometry)

Paper-I1I
Time Allowed—3 Hours] [Maximum Marks—75

Note :—Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question
may be attempted from any section. All questions

carry equal marks.
SECTION—A

. (a) By a suitable transformation of axes remove the

terms of the first degree in the equation
x?+3xy —y? + 3x - 7y.+ 11 = 0. 8
(b) Prove that the trace (a + b) and discriminant
(ab — h?) of the expression S = ax’ + 2hxy + by?
+ 2gx + 2fy + ¢ remains invariant under shifting

of origin. 7
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(a) Find the angle between the lines represented by

6y? — x> —xy + 10y + 4 = 0. 8

(b) Show that the pair of lines a’x* + 2h(a + b)xy +

by? = 0 is equally inclined to the pair ax* + 2hxy

+ by’ = 0. 7
SECTION—B

(a) Find the equation of a parabola with vertex (2, 1)

and focus (1, —1). 7

(b) Find the locus of the middle point of a chord of

a parabola which subtends a right angle at the

vertex. 8

(a) Prove that the length of chord of contact of tangents
drawn from the point (x, y,) to the parabola

y’ =4ax is l\/yf +4a® \Jy? —dax, . 7
a

(b) Find the equation of tangent and normal at (2, 4)

to the parabola y* = x. 8

SECTION—C

2 2
(a) If any tangent to the ellipse 352_ + % =1 intercepts
a

2 12

length h and k on the axes, prove that %) + i 1.
7

(Contd.)
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(b)

6. (a)
(b)
7. (a)
(b)
8. (a)
(b)

140(2124)/1L-9490

Find | i '

ength of the chord intercepted by the ellipse
5 o Py

X"+ 2y* = 4 on the normal at the point (/2 , 1).

8
Find centre, eccentricity and foci of the hyperbola
Ox* — 16y* + 18x + 32y — 151 = 0. 7

Find the equation of the straight lines which are

tangents to the parabola y> = 8x and the hyperbola
3x? — y2 = 3. 8

SECTION—D

Prove that planes x = cy + bz, y =az + X and
z = bx + ay pass through on line if :

a2 + b? + ¢2 + 2abc = 1. Also find the equation

of line. 7

Show that the planes Ix +y +z =3,
x +yt+2z2= 4, x +z =2 form a triangular
ind also the area of normal section of

prism. F
8

this prism.

Prove that plane X +2y—z=4cuts the sphere
xz+y2+22—x+z~2=0inacircle of radius
unity. 7
he tangent planes to sphere
0 which pass through

y =3z +30=0

§

Find the equations of t
x2+y2+zz+6x——22+ 1=
the lines x +Z — 16 =0, 2
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Exam. Code : 121203
Subject Code : 102770

B.A./B.Sc. 3" Semester (Batch 2023-26) (CBGS)

MATHEMATICS (Analysis)
| Paper-I
Time Allowed—3 Hours]. [Maximum Marks—100

Note :— Attempt FIVE questions in all, selecting at Jeast

L (@
(b)
2. (a)

'ONE question from each section. The fifth question

may be attempted from any section. All questions
carry equal marks.

SECTION—-—A

Define a‘seqﬁence with example. Prove that every

convergent sequence is bounded and has a umque
limit.

Show that the sequence, {S }, wher_e

SR I S | N,
o Sy oy e T forall m € N, is
convergent. e

If a sequence {a } is bounded, then show that
limit inferior and limit superior of {a } are boty
finite.
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(b) Si

(a)

(b)

(a)

(b)

()
(b)

Jow that every monotonic incrcasing seq
ue
which is not bounded above, diverges . rlce

SECTION—B

:-2MML“‘“

converges if p > 1 and diverges for P <

Show that the series

Prove that every absolutely convergent Series i

convergent.
Test the convergence of the series

2

-J
o
.I‘\J_
<
.t‘\J
o

(S}

24
L

L) | BN

i | B

[B9]
(2]

2
L

a0

Show that the series Z(1/n°) converges if p > |,
and diverges if p < 1

SECTION—C

Show that every continuous function is integfrable.

Show that if a function fis monotomc on [a, b],
then it is integrable on [a, b].

Let f, and f, be two bounded and integrable functions
on [a, b]. Prove that f = f, — f, is also integrable on

[a, b] and Lb f dx =Lb f, dx—-r f, dx.

139(2124)/IL-10133 2
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SECTION—D

b ['(m)I"(n) . 5]
P _ 2m)}l(n) g '
7. Show that B(m, n) (m+n) where m > 0, n
8. (a) Examine the convergence of the integrals
rsinx dx and Jm x e dx.
0 0
(b) Find the value of m and n for which the integral
1 1\"
J‘[log—*} dx converges.
9 X
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Exam. Code ¢« 121203
Subject Code : 102778

B.A./B.Sc. 3 Semester (Batch 2023-26) (CBGS)

QUANTITATIVE TECHNIQUES

(Quantitative Techniques—III)

Time Allowed— 3 Hours] [Maximum Marks—100

Note :— Attempt FIVE questions in all, selecting at least ONE

question from each section. The fifth question may
e attempted from any section. All questions carry

equal marks.
SECTION—A

1. (@) Find the first order and second order partial derivatives
with respect to x and y of the function :
z = 4x%y* + x* + 3y
(i) Determine two positive numbers, whose sum is
15 and the sum of whose squares 1s minimum.
10+10=20
2. () Find the maximum and minimum values of the fimction :
(x - 1) (x + 3)%
(1) Divide 16 into two parts so that their product is
Inaximum.
() What is a decreasing function ? Explain with the
help of an example. 10+5+5=20
130(2124)/11,-5884 1
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SECTION—B

x’ +3x* +4
@ Find the integral of : N W.I.t. X,

sl

(i) Evaluate: _[;(e" —6*")2 dx. 10+10=)0

4. (@) If the market demand curve is given by p =20 — 2x,
where p and x are respectively the price and amoypt
demanded of a commodity, find the consumer’s surplus
when p =4 and p = 8.

(1) The supply curve for a commodity is given by :
p=+/9+x and the quantity sold is 7 units. Find

producer's surplus. 10+10=20
SECTION—C

5. With the help of hypothetical examples, explain the

following :

() Transpose of a matrix

() Symmetric matrix

() Skew-symmetric matrix

(iv) Diagonal matrix, 4x5=20
130(2124)/11.-5884 5 (Contd)



6. Solve the following s ' :
rule : € system of equations by Crammer's

X+6y—-z=10
2x + 3y +3z=17
3x -3y ~2z=-9
SECTION———-D
The input-output coefficient matrix (A) and final demand

vector (D) for an economy with three sectors are given
below :

20

0.1 02 04 40
, D

A=/03 0.2 0.1 =150 }; calculate the output level
02 04 03] |80

for the three sectors. 20
() What are the underlying assumptions of linear
programming ?
(i) Solve the following linear programming problem by
graphic method :
Minimize Z = 2x, + 3X,
subject to the constraints :
o2, " oy 2 B
3x, + 5%, 30
2x, + X, 2 12
%, %, Z 0 5+15=20

130(2124)/1L-5884 3 1000



Exam. Code : 121203
Subject Code : 102752

B.A./B.Sc. 37 Semester (Batch 2023-26) (CBGS)
COMPUTER SCIENCE

(Computer Oriented Numerical & Statistical Methods)

Time Allowed— 3 Hburs] [Maximum Marks—75

Note :— Attempt FIVE questions in all, selecting at least ONE
question from each section. The fifth question may
be attempted from any section. All questions carry

equal marks.

SECTION—A

1.  What is difference between numerical methods and
numerical analysis ? Which are different types of errors

and their measures ?

2. Find a root of equation x* — x> + x — 7 = 0 near

X = 2 using bisection method.

151(2124)/IL-5892 ' (Contd.)




SECTION—B

3. Solve the following system of equations using Guass

Jordon method :
2x - 3y+z=-1
X+4y + 5z =25
3Xx -4y +z=2

4. Which are different methods to solve non-homogenous
system of linear equations ? Write the algorithm of

Guass Siedel method.

SECTION—C

5. Using following table that gives the normal weights of a
baby during the first six months of age estimate the.

weight of a baby at age of 4 months :

AgeinMonths: 012(3]51|6
Weight (Kg.) : 5|7 |8 |10 |12

6. (a) Write the algorithm of Simpson's 1/3 rule to find

area under curve.

151(2124)/11.-5892 2 (Contd.)



(b) Using trapezoidal rule find the area between x-axis
and the lines x = 1 and x =4 and the curve through

the points given by :

Xy1111512 |'25] 3 (35| &
Y:12123(29(36|45|525.8

SECTION—D

Calculate mean and mode of the distribution given

below :

X (less than): | 5| 10 [ 15 |20 | 25 | 30 | 35 | 40
Frequency : |5[20|45]|75 11513514550

What is Dispersion ? Which are various measures of

dispersion? Compare Dispersion and Skewness.

151(2124)/1L-5892 3 4900



Exam. Code : 121203
Subject Code: 102760

B.A./B.Sc. 3™ Semester (Batch 2023-26) (CBGS)
ECONOMICS

(Indian Economy)
Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question

may be attempted from any section. All questions

carry equal marks.

SECTION—A

1. Discuss various causes of decline in agricultural productivity

in India.

2. Elaborate various clauses of WTO related with agriculture.

How have they affected Indian agriculture ?

SECTION—B

3. What are the major problems of [ndian industry 2 How

they can be solved ?

Discuss the role of public sector in India. What are its

major shortcomings ?

115(2124)/11.-6094(T) 1 (Contd.)




0.

SECTION—C
Critically examine various policy measures to promote
foreign trade in India.
Why India faces adverse balance of payments ? How it

can be corrected ?
SECTION—D

Discuss the causes of inequality in India. How it can be

removed ?

Elaborate the main objectives of Indian Plans. How far
have we been able to achieve these objectives ?
(Punjabi Version)
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(Hindi Version)

e TAF AWM F T HH A HF TEH YT b1 G Hd

gY, i = g | wEer ye fwar oFf
¥ ¥ B o1 gear 81 @l ueAl & §HA
2 |
HIT—H
g ¥ o Scaeda ¥ fioee F e sl
9T g9l &2 |

2. & @ wefad WTO & fafra @8t ) fwr § ==l
FL | A Ff T AR F U9E qeT B 7
115(2124)/1L-6094(T) k)

(Contd.)



MT—3
3.0 el 3 @) uH@ gwegtd Fgq1 8 7 SR
gt dA fhar o Hehdr B 7
4. Ad H gEdHE & @ offywr or wmt w1 FE@h
YA HRAT F9TB?
HT—TT
5. W’ H faeel ammr @1 agrr 3 F R fafie
A Fm@l &1 sredEAeTs g w¥

6. WA F YTAA AT A ufawe Rofd &1 gEAT

T FAT UTAT T 7 =y A4 Be Feur W gl
g 7

HAT—9

7. IRA W EEAM R SR W ogEl ey | = By
X fFur ST gewar g ?

8. WM WA B g R W AR ¥ wel

g 7

15(2124)/11-6094(T)
3700




